


Extended Euclid ′s Algorithm

Example 67

gcd(34, 13) 34 = 2· 13 + 8

= gcd(13, 8) 13 = 1· 8 + 5

= gcd(8, 5) 8 = 1· 5 + 3

= gcd(5, 3) 5 = 1· 3 + 2

= gcd(3, 2) 3 = 1· 2 + 1

= gcd(2, 1) 2 = 2· 1 + 0

= 1
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Extended Euclid ′s Algorithm

Example 67

gcd(34, 13) 34 = 2· 13 + 8 8 = 34 −2· 13

= gcd(13, 8) 13 = 1· 8 + 5 5 = 13 −1· 8

= gcd(8, 5) 8 = 1· 5 + 3 3 = 8 −1· 5

= gcd(5, 3) 5 = 1· 3 + 2 2 = 5 −1· 3

= gcd(3, 2) 3 = 1· 2 + 1 1 = 3 −1· 2

= gcd(2, 1) 2 = 2· 1 + 0

= 1
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gcd(34, 13) 8 = 34 −2· 13

= gcd(13, 8) 5 = 13 −1· 8

= gcd(8, 5) 3 = 8 −1· 5

= gcd(5, 3) 2 = 5 −1· 3

= gcd(3, 2) 1 = 3 −1· 2
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gcd(34, 13) 8 = 34 −2· 13

= gcd(13, 8) 5 = 13 −1· 8

= 13 −1·
z }| {
(34− 2 · 13)

= −1 · 34+ 3 · 13
= gcd(8, 5) 3 = 8 −1· 5

= gcd(5, 3) 2 = 5 −1· 3

= gcd(3, 2) 1 = 3 −1· 2
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gcd(34, 13) 8 = 34 −2· 13

= gcd(13, 8) 5 = 13 −1· 8

= 13 −1·
z }| {
(34− 2 · 13)

= −1 · 34+ 3 · 13
= gcd(8, 5) 3 = 8 −1· 5

=
z }| {
(34− 2 · 13) −1·

z }| {
(−1 · 34+ 3 · 13)

= 2 · 34+ (−5) · 13
= gcd(5, 3) 2 = 5 −1· 3

= gcd(3, 2) 1 = 3 −1· 2
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gcd(34, 13) 8 = 34 −2· 13

= gcd(13, 8) 5 = 13 −1· 8

= 13 −1·
z }| {
(34− 2 · 13)

= −1 · 34+ 3 · 13
= gcd(8, 5) 3 = 8 −1· 5

=
z }| {
(34− 2 · 13) −1·

z }| {
(−1 · 34+ 3 · 13)

= 2 · 34+ (−5) · 13
= gcd(5, 3) 2 = 5 −1· 3

=
z }| {
−1 · 34+ 3 · 13 −1·

z }| {
(2 · 34+ (−5) · 13)

= −3 · 34+ 8 · 13
= gcd(3, 2) 1 = 3 −1· 2

— 217-c —



gcd(34, 13) 8 = 34 −2· 13

= gcd(13, 8) 5 = 13 −1· 8

= 13 −1·
z }| {
(34− 2 · 13)

= −1 · 34+ 3 · 13
= gcd(8, 5) 3 = 8 −1· 5

=
z }| {
(34− 2 · 13) −1·

z }| {
(−1 · 34+ 3 · 13)

= 2 · 34+ (−5) · 13
= gcd(5, 3) 2 = 5 −1· 3

=
z }| {
−1 · 34+ 3 · 13 −1·

z }| {
(2 · 34+ (−5) · 13)

= −3 · 34+ 8 · 13
= gcd(3, 2) 1 = 3 −1· 2

=
z }| {
(2 · 34+ (−5) · 13) −1·

z }| {
(−3 · 34+ 8 · 13))

= 5 · 34+ (−13) · 13

— 217-d —



Linear combinations

Definition 68 An integer r is said to be a linear combination of a

pair of integers m and n whenever

there exist a pair of integers s and t, referred to as the

coefficients of the linear combination, such that

�

s t
�

·
�

m

n

�

= r ;

that is

s ·m+ t · n = r .
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Theorem 69 For all positive integers m and n,

1. gcd(m,n) is a linear combination of m and n, and

2. a pair lc1(m,n), lc2(m,n) of integer coefficients for it,

i.e. such that

�

lc1(m,n) lc2(m,n)
�

·
�

m

n

�

= gcd(m,n) ,

can be efficiently computed.
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Proposition 70 For all integers m and n,

1.
�

?1 ?2
�

·
�

m

n

�

= m ∧
�

?1 ?2
�

·
�

m

n

�

= n ;
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Proposition 70 For all integers m and n,

1.
�

?1 ?2
�

·
�

m

n

�

= m ∧
�

?1 ?2
�

·
�

m

n

�

= n ;

2. for all integers s1, t1, r1 and s2, t2, r2,

�

s1 t1
�

·
�

m

n

�

= r1 ∧
�

s2 t2
�

·
�

m

n

�

= r2

implies

�

?1 ?2
�

·
�

m

n

�

= r1 + r2 ;

— 221-a —



Proposition 70 For all integers m and n,

1.
�

?1 ?2
�

·
�

m

n

�

= m ∧
�

?1 ?2
�

·
�

m

n

�

= n ;

2. for all integers s1, t1, r1 and s2, t2, r2,

�

s1 t1
�

·
�

m

n

�

= r1 ∧
�

s2 t2
�

·
�

m

n

�

= r2

implies

�

?1 ?2
�

·
�

m

n

�

= r1 + r2 ;

3. for all integers k and s, t, r,

�

s t
�

·
�

m

n

�

= r implies
�

?1 ?2
�

·
�

m

n

�

= k · r .
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gcd

fun gcd( m , n )

= let

fun gcditer( r1 , c as r2 )

= let

val (q,r) = divalg(r1,r2) (* r = r1-q*r2 *)

in

if r = 0

then c

else gcditer( c , r )

end

in

gcditer( m , n )

end
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egcd

fun egcd( m , n )

= let

fun egcditer( ((s1,t1),r1) , lc as ((s2,t2),r2) )

= let

val (q,r) = divalg(r1,r2) (* r = r1-q*r2 *)

in

if r = 0

then lc

else egcditer( lc , ((s1-q*s2,t1-q*t2),r) )

end

in

egcditer( ((1,0),m) , ((0,1),n) )

end
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fun gcd( m , n ) = #2( egcd( m , n ) )

fun lc1( m , n ) = #1( #1( egcd( m , n ) ) )

fun lc2( m , n ) = #2( #1( egcd( m , n ) ) )
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Multiplicative inverses in modular arithmetic

Corollary 74 For all positive integers m and n,

1. n · lc2(m,n) ≡ gcd(m,n) (mod m), and

2. whenever gcd(m,n) = 1,
�

lc2(m,n)
�

m
is the multiplicative inverse of [n]m in Zm .
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